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B.Sc. 3rd Semester (Honours) Examination, 2019-20

ECONOMICS

Course ID : 31615 Course Code : SH/ECO/305/SEC-1·1

Course Title: Data Analysis

Time:  2 Hours Full Marks: 40

The figures in the right hand side (applicable for all question)

margin indicate full marks.

The questions are of equal value.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

Answer any 20 of the following. 2×20=40

Œ˚ Œfl¬±ÀÚ± fl≈¬øh¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±›/

1. From the intersection of the two ogives (more than and less than) we get:

≈øÈ¬ ›Ê±˝◊Àˆ¬ı˛ ŒÂfl¬ øıj≈ ŒÔÀfl¬ ’±˜ı˛± øÚ•ßø˘ø‡Ó¬ øı¯∏˚˛øÈ¬ Ê±ÚÀÓ¬ ¬Û±øı˛–
(a) Mean

·h¬
(b) Median

˜Ò…˜±
(c) Mode

¸ı«·øı˛á¬ ˜±Ú
(d) Standard deviation

¸˜…fl¬ øı‰≈¬…øÓ¬

2. If the correlation coefficient is a positive value, then the slope of the regression line

¸˝·±Ç¬ ÒÚ±Rfl¬ ˝À˘ øÚˆ«¬ı˛Ì Œı˛‡±ı˛ Ï¬±˘
(a) must also be positive

ÒÚ±Rfl¬ ˝Àı
(b) can be either negative or positive

ÒÚ±Rfl¬ ı± ŸÌ±Rfl¬ ˝Àı
(c) can be zero

˙”Ú… ˝ÀÓ¬ ¬Û±Àı˛
(d) cannot be zero

˙”Ú… ˝ÀÓ¬ ¬Û±Àı˛ Ú±
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3. In case of Histogram the area of each rectangle is equated with

ø˝Àà¬±·Ë±À˜ı˛ Œé¬ÀS √õ∂øÓ¬øÈ¬ ’±˚˛Ó¬Àé¬ÀSı˛ Œé¬SÙ¬˘ ¸˜±Ú ˝˚˛

(a) class frequency

¬Ûøı˛¸—‡…± Œ|Ìœ

(b) width of class

Œ|Ìœ √õ∂¶ö

(c) total frequency

Œ˜±È¬ ¬Ûøı˛¸—‡…±

(d) class limit

Œ|Ìœ ¸œ˜±

4. The mean age of a group of 100 children was 9·35 years. The mean age of 25 of them was

8·75 years and that of another 65 was 10·51 years. What was the mean age of the remainder?

100 ÊÚ ø˙qı˛ ¤fl¬øÈ¬ À˘ı˛ ·h¬ ı˚˛¸ 9·35 ıÂı˛, Ó¬±ı˛˜ÀÒ… 25 ÊÀÚı˛ ·h¬ ı˚˛¸ 8·75 ıÂı˛ ¤ı— 65 ÊÀÚı˛

·h¬ ı˚˛¸ 10·51 ıÂı˛/ ’ıø˙©Ü ı±B‰¬±Àı˛ ı˚˛À¸ı˛ ·h¬ fl¬Ó¬ ˝Àı∑

(a) 3·61

(b) 3·31

(c) 3·13

(d) 2·43

5. A person bought 6 rupees worth of oranges from five markets at 15 paisa, 20 paisa, 25, paisa,

30 paisa and 50 paisa respectively. What is the average price of an orange?

¤fl¬ÊÚ ı…øMê ¬Û“±‰¬øÈ¬ ı±Ê±ı˛ ŒÔÀfl¬ ˚Ô±SêÀ˜ 15 ¬Û˚˛¸±, 20 ¬Û˚˛¸±, 25 ¬Û˚˛¸±, 30 ¬Û˚˛¸± › 50 ¬Û˚˛¸± Àı˛ Œ˜±È¬

6 È¬±fl¬±ı˛ fl¬Àı˛ fl¬˜˘±À˘ı≈ øfl¬Ú˘/ fl¬˜˘± Œ˘ı≈ı˛ ·h¬ ±˜ fl¬Ó¬∑

(a) 26

(b) 27

(c) 24

(d) 30



6. Which of the following relationship is correct?

øÚ•ßø˘ø‡Ó¬ ¸•Ûfl«¬&ø˘ Œfl¬±ÚøÈ¬ ¸øÍ¬fl¬∑

(a) A.M. > G.M ≥ H.M

·±øÌøÓ¬fl¬ ·h¬ > &ÀÌ±Mı˛ ·h¬ ≥ øııÓ«¬À˚Ãø·fl¬ ·h¬

(b) A.M. ≥ G.M ≥ H.M

·±øÌøÓ¬fl¬ ·h¬ ≥ &ÀÌ±Mı˛ ·h¬ ≥ øııÓ«¬À˚Ãø·fl¬ ·h¬

(c) A.M. ≥ G.M = H.M

·±øÌøÓ¬fl¬ ·h¬ ≥ &ÀÌ±Mı˛ ·h¬ = øııÓ«¬À˚Ãø·fl¬ ·h¬

(d) None of the above

Î¬◊¬ÛÀı˛ı˛ Œfl¬±ÀÚ±øÈ¬˝◊ Ú˚˛/

7. From the following table find out the median marks of a student.

øÚ•ßø˘ø‡Ó¬ Ó¬±ø˘fl¬± ŒÔÀfl¬ ¤fl¬ÊÚ Â±ÀSı˛ Ú•§Àı˛ı˛ ˜Ò…˜± øÚÌ«˚˛ fl¬Àı˛±/

Marks 0–20 21–30 31–40 41–50 51–60 61–70 71–80

˜±Ú

No. of Students 42 38 120 84 48 36 31

Â±ÀSı˛ ¸—‡…±

(a) 39·46

(b) 41·46

(c) 40·46

(d) 42·46

8. Which of the following relationship is correct?

øÚ•ßø˘ø‡Ó¬ ¸•Ûfl¬«&ø˘ı˛ ˜ÀÒ… Œfl¬±ÚøÈ¬ ¸øÍ¬fl¬∑

(a) Mean–Mode = 2 (Mean–Median)

·h¬ñ¸—‡…±·øı˛á¬ ˜±Ú = 2 ï·h¬ñ˜Ò…˜±ó

(b) Mean–Mode = 3 (Mean–Median)

·h¬ñ¸—‡…±·øı˛á¬ ˜±Ú = 3 ï·h¬ñ˜Ò…˜±ó

(c) Mode–Mean = 3 (Mean–Median)

¸—‡…±·øı˛á¬ ˜±Úñ·h¬ = 3 ï·h¬ñ˜Ò…˜±ó

(d) Median–Mode = 3 (Mean–Median)

˜Ò…˜±ñ¸—‡…±·øı˛á¬ ˜±Ú = 3 ï·h¬ñ˜Ò…˜±ó
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9. The monthly profits in rupees of 100 shops are distributed as follows:

100 øÈ Œ±fl¬±ÀÚı˛ ˜±ø¸fl¬ ’±˚˛ Ó¬±ø˘fl¬± ÚœÀ‰¬ ıøÌ«Ó¬ ˝˘ –

Profits per shop 0–100 100–200 200–300 300–400 400–500 500–600
√õ∂øÓ¬ Œ±fl¬±ÀÚı˛ ’±˚˛

No. of Shops 12 18 27 20 17 6
Œ±fl¬±ÀÚı˛ ¸—‡…±

Find the model value:

¸—‡…±·øı˛á¬ ˜±Ú øÚÌ«˚˛ fl¬Àı˛± –
(a) 256·25
(b) 254·75
(c) 255·21
(d) 250·15

10. The weight of 11 forty year old people were 148, 154, 158, 160, 161, 162, 166, 170, 182, 195
and 236 pounds. If the heaviest man is omitted, what is the percentage change in the range?

11 ÊÚ 40 ı»¸ı˛ ı˚˛¶® Œ˘±Àfl¬ı˛ ›ÊÚ ˚Ô±SêÀ˜ 148, 154, 158, 160, 161, 162, 166, 170, 182, 195
¤ı— 236 ¬Û±Î¬◊`¬/ ˚ø ¸ı«±øÒfl¬ ›ÊÚøıø˙©Ü ı…øMêÀfl¬ ı± Œ›˚˛± ˝˚˛, Ó¬Àı øıô¶∏±Àı˛ı˛ ˙Ó¬±—˙·Ó¬ ¬Ûøı˛ıÓ«¬Ú fl¬Ó¬
˝Àı∑

(a) 48
(b) 47
(c) 47·5
(d) 48·5

11. What will be the most appropriate measure of dispersion for the following data?

øÚ•ßø˘ø‡Ó¬ Ó¬Ô… Ó¬±ø˘fl¬±ı˛ Œé¬ÀS ¸ı«±À¬Ûé¬± Î¬◊¬Û˚≈Mê øı‰≈¬…øÓ¬ı˛ ¬Ûøı˛˜±¬Û Œfl¬±ÚøÈ¬ ˝Àı∑

Less than 35 (35 ¤ı˛ fl¬˜) 14

35–37 62

38–40 49

41–43 18

Over 43 (43 ¤ı˛ ’øÒfl¬) 7

(a) Standard deviation

¸˜…fl¬ øı‰≈¬…øÓ¬
(b) Coefficient of variation

øıô¶∏±ı˛±Ç¬
(c) Range

øıô¶∏±ı˛
(d) Quartile deviation

‰¬Ó≈¬Ô«±—˙œ øı‰≈¬…øÓ¬

SH-III/ECO/305/SEC-1·1/19 ( 4 )



12. Calcualte the Mean Deviation of the following values about the median.

øÚ•ßø˘ø‡Ó¬ ˜±Ú&ø˘ ŒÔÀfl¬ ˜Ò…˜±ı˛ ¸±À¬ÛÀé¬ ·h¬ øı‰≈¬…øÓ¬ øÚÌ«˚˛ fl¬Àı˛±/

8, 15, 53, 49, 19, 62, 7, 15, 95, 77

(a) 27

(b) 27·2

(c) 27·4

(d) 26·2

13. The standard deviation calculated from a set of 32 observations is 5. If the sum of observations

is 80, what is the sum of the sqaures of these observations?

32 øÈ¬ ¬Û˚«Àıé¬ÀÌı˛ ¸˜…fl¬ øı‰≈¬…øÓ¬ ˚ø 5 ˝˚˛ ¤ı— ¬Û «̊Àıé¬Ì&ø˘ı˛ Œ˚±·Ù¬˘ ˚ø 80 ˝˚˛, Ó¬Àı ¬Û˚«Àıé¬Ì&ø˘ı˛

ıÀ·«ı˛ Œ˚±·Ù¬˘ fl¬Ó¬ ˝Àı∑

(a) 1100

(b) 910

(c) 1000

(d) 1050

14. The mean and standard deviation of 20 items is found to be 10 and 2 respectively. At the time

of checking it was found that one item 8 was incorrect. Calculate the standard deviation if the

wrong item is omitted.

20 øÈ¬ ¬^Àı…ı˛ ·h¬ ¤ı— ¸˜…fl¬ øı‰≈¬…øÓ¬ı˛ ˜±Ú ˚Ô±SêÀ˜ 10 ¤ı— 2 / ¬Ûı˛œé¬± fl¬ı˛±ı˛ ¸˜˚˛ Œ‡± Œ·˘ Œ˚ ¤fl¬øÈ¬

^ı… ˚±ı˛ ˜±Ú 8 ˆ≈¬˘ øÂ˘/ Œ¸Àé¬ÀS ˆ≈¬˘ ^Àı…ı˛ ˜±Ú ı± øÀ˚˛ ¸øÍ¬fl¬ ¸˜…fl¬ øı‰≈¬…øÓ¬ı˛ ˜±Ú øÚÌ«˚˛ fl¬Àı˛±/

(a) 1·997

(b) 2·123

(c) 1·421

(d) 1·723
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15. Given the following results relating to two groups containing 20 and 30 observations, calculate

the coefficient of variation of all the 50 observations by combining both the groups:

20 ÊÚ › 30 ÊÚ Œ˘±Àfl¬ı˛ ≈øÈ¬ Œ·±á¬œı˛ Ù¬˘±Ù¬˘ øÚÀ•ß ıøÌ«Ó¬ ˝À˚˛ÀÂ/ ¤Àé¬ÀS 50 ÊÚ Œ˘±Àfl¬ı˛ ¤fl¬ÀS øıô¶∏±ı˛±Ç¬
fl¬Ó¬ ˝Àı∑

Groups (Œ·±á¬œ)

I II

∑x 45 55

∑x2 118 132

(a) 50

(b) 45

(c) 51

(d) 50·5

16. From the data given below, calculate the coefficient of variation:

Pearson’s measure of skewness = 0·42, Mean = 86, Median = 80

øÚ•ßø˘ø‡Ó¬ Ó¬Ô…&ø˘ ŒÔÀfl¬ øıô¶∏±ı˛±Ç¬ øÚÌ«˚˛ fl¬Àı˛± –

ø¬Û˚˛±¸«ÀÚı˛ øÓ¬˚«fl¬Ó¬±ı˛ ¬Ûøı˛˜±¬Û = 0·42, ·h¬ = 86, ˜Ò…˜± = 80

(a) 51

(b) 50

(c) 50·5

(d) 52

17. When kurtosis of a distribution is positive, the distribution is called:

Œfl¬±Ú øıˆ¬±ÊÀÚı˛ Ó¬œÑÓ¬± ÒÚ±Rfl¬ ˝À˘, ‹ øıˆ¬±ÊÚÀfl¬ ı˘± ˝˚˛ –

(a) Platykurtic

Œõ≠øÈ¬fl¬±øÈ«¬fl¬

(b) Mesokurtic

Œ˜À¸±fl¬±øÈ«¬fl¬

(c) Leptokurtic

Œ˘ÀõI◊±fl¬±øÈ«¬fl¬

(d) Binomial

ı±˝◊ÀÚ±ø˜˚˛±˘
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18. The first two moments of a distribution about the value 5 of the variable are 2 and 20. Find

the mean.

5 ¤ı˛ ¸±À¬ÛÀé¬ ¤fl¬øÈ¬ øıˆ¬±ÊÀÚı˛ √õ∂Ô˜ ≈øÈ¬ Œ˜±À˜KÈ¬ ¤ı˛ ˜±Ú ˚Ô±SêÀ˜ 2 ¤ı— 20/ ·h¬ øÚÌ«˚˛ fl¬Àı˛±ñ

(a) 8

(b) 7

(c) 7·5

(d) 8·5

19. Which one of the following variables is not categorical?

ÚœÀ‰¬ı˛ ‰¬˘fl¬&ø˘ı˛ ˜ÀÒ… Œfl¬±ÚøÈ¬ categorical Ú˚˛∑

(a) Age of a person.

ı…øMêı˛ ı˚˛¸

(b) Gender of a person: male or female

ı…øMêı˛ ø˘º – ¬Û≈è¯∏ ı± ˜ø˝˘±

(c) Choice on a test item: true or false

¤fl¬øÈ¬ test item ¤ı˛ ¬ÛÂj – ¸Ó¬… ı± ø˜Ô…±

(d) Marital status of a person (single, married, divorced, other)

ı…øMêı˛ øıı±˝ ¸•Ûøfl«¬Ó¬ ’ı¶ö±Ú – ’øıı±ø˝Ó¬, øıı±ø˝Ó¬, øıı±˝øıøBÂiß, ’Ú…±Ú…

20. The correlation coefficient is used to determine:

¸˝·±Ç¬ ı…ı˝+Ó¬ ˝˚˛ Œfl¬±ÚøÈ¬ øÚÒ«±ı˛Ì fl¬ı˛±ı˛ ÊÚ…∑

(a) A specific value of the y-variable given a specific value of the x-variable.

x-¤ı˛ ¤fl¬øÈ¬ øÚø«©Ü ˜±Ú ŒÔÀfl¬ y-¤ı˛ ˜±Ú

(b) A specific value of the x-variable given a specific value of the y-variable

y-¤ı˛ ¤fl¬øÈ¬ øÚø«©Ü ˜±Ú ŒÔÀfl¬ x-¤ı˛ ˜±Ú

(c) The strength of the relationship between the x and y variables

x › y ¤ı˛ ˜ÀÒ… ¸•ÛÀfl«¬ı˛ √õ∂fl‘¬øÓ¬

(d) None of the above

Î¬◊¬ÛÀı˛ı˛ Œfl¬±ÀÚ±øÈ¬˝◊ Ú˚˛/
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21. Let the lines of regression concerning two variables x and y be given by y=32–x and

x = 13–0·25y. Obtain the  correlation co-efficient.

x › y ¤ı̨ øÚ «̂¬ı̨Ì Œı̨‡±ZÀ˚̨ı̨ ¸˜œfl¬ı̨Ì&ø˘ ˝˘ ˚Ô±SêÀ˜ y=32–x › x = 13–0·25y / ¸˝·±ÀÇ¬ı̨ ˜±Ì øÚÌ«̊  ̨fl¬Àı̨±/

(a) + ·5

(b) – ·5

(c) ·25

(d) –·25

22. From the following data , estimate the value of y when x = 12.

øÚ•ßø˘ø‡Ó¬ Ó¬±ø˘fl¬± ŒÔÀfl¬ y ¤ı˛ ˜±Ú øÚÌ«˚˛ fl¬Àı˛± ˚‡Ú x = 12/

x 1 3 4 6 8 9 11 14

y 1 2 4 4 5 7 8 9

(a) 55

(b) 64

(c) 54

(d) 54·5

23. What was the repo rate in November 2019?

2019 ¸±À˘ı˛ ÚÀˆ¬•§ı˛ ˜±À¸ Œı˛À¬Û± Œı˛È¬ fl¬Ó¬ øÂ˘∑

(a) 5·15

(b) 2·25

(c) 5·20

(d) 5·10

24. What is the name of the organisation which conducts census after every 10 years?

Œfl¬±Ú ¸—¶ö± √õ∂øÓ¬ 10 ıÂı˛ ’ôL√ı˛ ÊÚ·ÌÚ± ¸—·øÍ¬Ó¬ fl¬Àı˛ Ô±Àfl¬∑

(a) CSO

(b) NSSO

(c) CSO and NSSO both

(d) None of the above
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25. What was the SLR in November 2019?

ÚÀˆ¬•§ı˛ 2019-¤ SLR fl¬Ó¬ øÂ˘∑

(a) 19·75%

(b) 20·75%

(c) 21·75%

(d) 18·75%

ñññññ
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B.Sc. 3rd Semester (Honours) Examination, 2019-20

ECONOMICS

Course ID : 31615 Course Code : SH/ECO/305/SEC-1·2

Course Title: Research Methodology

Time:  2 Hours Full Marks: 40

The figures in the margin indicate full marks.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/

A. Define the following concepts (any five): 2×5=10

øÚ•ßø˘ø‡Ó¬ Ò±ı˛Ì±&ø˘ı˛ ˜ÀÒ… Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ı˛ ¸—:± ±› –

1. Primary Data.

√õ∂±˝◊˜±øı˛ ŒÎ¬È¬±

2. Action Research.

Action Research

3. Hypothesis.

˝±˝◊À¬Û±ÀÔø¸¸

4. Random sampling.

ı˛…±`¬±˜ ¸…±À•Û˘

5. Research Design.

Research Design ïøı˛¸±‰«¬ øÎ¬Ê±˝◊Úó

6. APA style of referencing.

APA à¬±˝◊˘ Œı˛Ù¬±Àı˛øk—

7. Qualitative Data.

Qualitative Data

8. Fundamental Research.

Ù¬±`¬±À˜KÈ¬±˘ øı˛¸±‰«¬ (Fundamental Research)
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B. Answer any four questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

1. What are the criteria of a good sample?

¤fl¬øÈ¬ ˆ¬±˘ ¸…±À•Û˘ (good sample)-¤ Δıø˙©Ü…&ø˘ ’±À˘±‰¬Ú± fl¬Àı˛±/

2. What are the pros and cons of using secondary data in research?

øı˛¸±‰«¬-¤ Œé¬ÀS Œ¸Àfl¬`¬±ı˛œ ŒÎ¬È¬± (secondary data-ı˛) ı…ı˝±Àı˛ı˛ Î¬◊¬Ûfl¬±øı˛Ó¬± › ’¬Ûfl¬±øı˛Ó¬±&ø˘ ’±À˘±‰¬Ú±
fl¬Àı˛±/

3. Write a short note on research ethics.

øı˛¸±‰«¬ ¤øÔ' (Research Ethics)-¤ı˛ ı…±¬Û±Àı˛ ŒÓ¬±˜±ı˛ Ò±ı˛Ì± ı…±‡…± fl¬Àı˛±/

4. Name the different styles of referencing used in research. Give example.

Œı˛Ù¬±Àı˛øk—-¤ı˛ à¬±˝◊˘&ø˘Àfl¬ Î¬◊±˝ı˛Ì¸˝ ıÌ«Ú± fl¬Àı˛±/

5. What are the guidelines that must be followed so as to write a good project report?

¤fl¬øÈ¬  ˆ¬±˘ √õ∂ÀÊ" øı˛À¬Û±È«¬ Œ˘‡±ı˛ Œé¬ÀS Œ˚ øÚ˚˛˜±ı˘œ&ø˘ Œ˜ÀÚ ‰¬˘± Î¬◊ø‰¬Ó¬ Œ¸&ø˘ ıÌ«Ú± fl¬Àı˛±/

6. Is there any difference between research method and research methodology? Explain. 

1+4=5

øı˛¸±‰«¬ Œ˜ÔÎ¬ ¤ı— øı˛¸±‰«¬ Œ˜ÔÎ¬˘øÊı˛ ˜ÀÒ… fl¬œ Œfl¬±ÀÚ± ¬Û±Ô«fl¬… ’±ÀÂ∑ ı…±‡…± fl¬Àı˛±/

C. Answer any one question of the following: 10×1=10

ÚœÀ‰¬ı˛ Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

1. Write down the different methods of collecting primary data.

√õ∂±˝◊˜±øı˛ ŒÎ¬È¬± Collection-¤ı˛ Methods &ø˘ ’±À˘±‰¬Ú± fl¬Àı˛±/

2. Give a broad idea about any one of the following approaches to research:

øÚ•ßø˘ø‡Ó¬ øı˛¸±‰«¬ Approach &ø˘ı˛ ı…±¬Û±Àı˛ ïŒ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ó Ò±ı˛Ì± ı…±‡…± fl¬Àı˛± –

(a) Quantitative ï¬Ûøı˛˜±Ì·Ó¬ó

(b) Qualitative ï&Ì·Ó¬ó

ñññññ
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